

ORIGINAL FOR RECIPIENT



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANSPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035  
**33AAICT0656J1Z9**  
**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
1	Sample -Filomilo real chicken biscuit - Chicken flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
2	Sample Filomilo real chicken biscuit - Milk & Egg flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
3	Sample Filomilo real chicken biscuit - Mutton flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
4	Sample Purple tail Chicken and Pumpkin for adult dogs 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
5	Sample Purple tail Chicken and Pumpkin for puppy 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
6	Sample Purple tail Chicken and liver Gravy for puppy-70 g	23091000	120 PCS	₹16.95	₹2,033.90	18%   ₹366.10	₹2,400.00
7	Sample Purple tail Salmon in gravy for adult Cats-70 g	23091000	96 PCS	₹16.95	₹1,627.12	18%   ₹292.88	₹1,920.00
8	Sample Purple tail Tuna in gravy for Kitten-70 g	23091000	96 PCS	₹16.10	₹1,545.76	18%   ₹278.24	₹1,824.00
9	Sample Purple tail Chicken and Egg Gravy for adult dogs-70 g	23091000	120 PCS	₹16.10	₹1,932.20	18%   ₹347.80	₹2,280.00
10	Purple tail Sample Kennel wash 50 ml-Camphor	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00

continued...

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC &amp; Branch : HDFC0001068 Kalapatti Main Road

Thanks for your business. This is a Computer Generated Invoice.

ORIGINAL FOR RECIPIENT



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035  
**33AAICT0656J1Z9**  
**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
11	Purple tail Sample kennel wash 50 ml-Lemon grass	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00
12	Sample Filomilo Hangers	3926906	200 PCS	₹0.85	₹169.49	18%   ₹30.51	₹200.00
13	Sample Filomilo shelf stickers	48211000	100 BOX	₹0.85	₹84.75	18%   ₹15.25	₹100.00
14	Sample Purple tail shelf stickers	48211000	100 PCS	₹0.85	₹84.75	18%   ₹15.25	₹100.00
Sub Total					₹18,435.93	₹3,318.47	₹21,754.00
Total							₹21,754.00

**Amount Chargeable (in words)** INR Twenty One Thousand Seven Hundred and Fifty Four only

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC & Branch : HDFC0001068 Kalappatti Main Road

Thanks for your business. This is a Computer Generated Invoice.



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANSPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035  
**33AAICT0656J1Z9**  
**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
1	Sample -Filomilo real chicken biscuit - Chicken flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
2	Sample Filomilo real chicken biscuit - Milk & Egg flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
3	Sample Filomilo real chicken biscuit - Mutton flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
4	Sample Purple tail Chicken and Pumpkin for adult dogs 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
5	Sample Purple tail Chicken and Pumpkin for puppy 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
6	Sample Purple tail Chicken and liver Gravy for puppy-70 g	23091000	120 PCS	₹16.95	₹2,033.90	18%   ₹366.10	₹2,400.00
7	Sample Purple tail Salmon in gravy for adult Cats-70 g	23091000	96 PCS	₹16.95	₹1,627.12	18%   ₹292.88	₹1,920.00
8	Sample Purple tail Tuna in gravy for Kitten-70 g	23091000	96 PCS	₹16.10	₹1,545.76	18%   ₹278.24	₹1,824.00
9	Sample Purple tail Chicken and Egg Gravy for adult dogs-70 g	23091000	120 PCS	₹16.10	₹1,932.20	18%   ₹347.80	₹2,280.00
10	Purple tail Sample Kennel wash 50 ml-Camphor	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00

continued...

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC &amp; Branch : HDFC0001068 Kalapatti Main Road



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANSPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035  
**33AAICT0656J1Z9**  
**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
11	Purple tail Sample kennel wash 50 ml-Lemon grass	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00
12	Sample Filomilo Hangers	3926906	200 PCS	₹0.85	₹169.49	18%   ₹30.51	₹200.00
13	Sample Filomilo shelf stickers	48211000	100 BOX	₹0.85	₹84.75	18%   ₹15.25	₹100.00
14	Sample Purple tail shelf stickers	48211000	100 PCS	₹0.85	₹84.75	18%   ₹15.25	₹100.00
Sub Total					₹18,435.93	₹3,318.47	₹21,754.00
Total							₹21,754.00

**Amount Chargeable (in words)** INR Twenty One Thousand Seven Hundred and Fifty Four only

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC & Branch : HDFC0001068 Kalappatti Main Road

Thanks for your business. This is a Computer Generated Invoice.



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANSPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035

33AAICT0656J1Z9

**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
1	Sample -Filomilo real chicken biscuit - Chicken flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
2	Sample Filomilo real chicken biscuit - Milk & Egg flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
3	Sample Filomilo real chicken biscuit - Mutton flavour 50g	23091000	120 PCS	₹9.61	₹1,153.22	18%   ₹207.58	₹1,360.80
4	Sample Purple tail Chicken and Pumpkin for adult dogs 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
5	Sample Purple tail Chicken and Pumpkin for puppy 80 g	23091000	360 PCS	₹10.30	₹3,706.78	18%   ₹667.22	₹4,374.00
6	Sample Purple tail Chicken and liver Gravy for puppy-70 g	23091000	120 PCS	₹16.95	₹2,033.90	18%   ₹366.10	₹2,400.00
7	Sample Purple tail Salmon in gravy for adult Cats-70 g	23091000	96 PCS	₹16.95	₹1,627.12	18%   ₹292.88	₹1,920.00
8	Sample Purple tail Tuna in gravy for Kitten-70 g	23091000	96 PCS	₹16.10	₹1,545.76	18%   ₹278.24	₹1,824.00
9	Sample Purple tail Chicken and Egg Gravy for adult dogs-70 g	23091000	120 PCS	₹16.10	₹1,932.20	18%   ₹347.80	₹2,280.00
10	Purple tail Sample Kennel wash 50 ml-Camphor	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00

continued...

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC &amp; Branch : HDFC0001068 Kalapatti Main Road



## TABPS Pets Private Limited

315 C VK Road Peelamedu Coimbatore Tamil Nadu 641004 India

GSTIN:33AAICT0656J1Z9 PAN:AAICT0656J

## TAX INVOICE

Invoice# INV-2024-25/714

Date: 22-Jan-2025

Bill To:  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Despatched thru:** 06AAPCS9575E1ZR , DELHIVERT TRANSPORT ,  
 06AAPCS9575E1ZR

Ship To  
**KIA ENTERPRISES**  
 638, AIRPORT ROAD ,KALANI NAGAR  
 INDORE  
 Indore, Madhya Pradesh 452006  
 Phone Number: 8602930860  
 23CLLP9358M1ZB  
 CLLPM9358M  
**Destination:** Indore

Dispatch From:  
**TABPS RND UNIT**  
 SF 438, TANK VEEDHI, KEERANATHAM ROAD,  
 CHINNAMETTUPALAYAM, SARAVANAMPATTI  
 COIMBATORE, Tamil Nadu 641035  
**33AAICT0656J1Z9**  
**Place of Supply:** Madhya Pradesh

#	Description of Goods	HSN / SAC	Qty.	Rate	Taxable Value	IGST %   Amt	Total
11	Purple tail Sample kennel wash 50 ml-Lemon grass	34011990	10 PCS	₹4.24	₹42.37	18%   ₹7.63	₹50.00
12	Sample Filomilo Hangers	3926906	200 PCS	₹0.85	₹169.49	18%   ₹30.51	₹200.00
13	Sample Filomilo shelf stickers	48211000	100 BOX	₹0.85	₹84.75	18%   ₹15.25	₹100.00
14	Sample Purple tail shelf stickers	48211000	100 PCS	₹0.85	₹84.75	18%   ₹15.25	₹100.00
Sub Total					₹18,435.93	₹3,318.47	₹21,754.00
Total							₹21,754.00

**Amount Chargeable (in words)** INR Twenty One Thousand Seven Hundred and Fifty Four only

Certified that the particulars given are true and correct

TABPS Pets Private Limited

## Terms &amp; Conditions

1. All payments to be made via online transfer only
2. Goods once sold will not be taken back.
3. Claim of any nature whatsoever will lapse unless raised in writing within 3 days of the receipt.
4. All disputes arising will be sorted out only via arbitration.

The venue for arbitration will be Coimbatore only.

Authorised Signatory

5. Subject to Coimbatore jurisdiction.

Our Bank : HDFC Bank

A/C No :ZTPETSCLLP9358M Current Account

IFSC & Branch : HDFC0001068 Kalappatti Main Road

Thanks for your business. This is a Computer Generated Invoice.